o 1.

What is the inverse operation for addition?

e o A.

Subtraction

o B.

| Multiplication
| o C.

} Division
:

Unit 7C Quiz 1 Part 1

o 2.
What is the inverse operation for subtraction?
| o A
| Addition
| o] B
i Multiplication
| o C.
| Division
s 3.
| What is the inverse operation for multiplication?
i o A
| Addition
| o B.
| Subtraction
o C.
Division
e 4,
What is the inverse operation for division?
o A.
Addition
o B.
Subtraction
g O
Multiplication
e« 5
X+8=15
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B+24=19
o A

o]

O

B
B
o C.
B
D
B
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-2x = 88
o A.
X =44
o B.
X =-44
& &3
X=-176
o D.
X=176

10

M+ 43 =100
o A.

M =57
o B.

M =143
o C.

M =-143
o D.

M = -57

11.

H-34=17

12 ~
7d =56
o A.
D=-8
e B.
D=7
8 ©,
D=8
o D.
D=56
13.
R/5=-9
o A
R=5
o B.
R=9
o C.
R=-45
o D.
R=45
14.
Y12 =-11
o A
Y =-132
o B.
Y=12
o C.
Y =1
o D.
Y =132
15.
-15=x/4
o A.
-60
o B.
60
s G
-11
o D.
-19
16.
-3m = -66
o A
198
o B.
=22
o C.
22
o D.
69
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17.
21+m=4
o A.

o B.
-11
o C.
-7
o D.
11
21.
5=20+x
o A.
-15
o B.
-25

22, '
S12=x/3
o A
4
o B.
-36
o €,
-4
o D.
36
23.
11x = -286
o A
297
o B.
26
o C.
-297
o D.
-26
24.
5=x/12
o A
50

-50
-60

-17
25.
3+x=-12
o A.
-15



Name - Score :

o

Solve the Equations [/, ﬁr \/_gr‘lg.;
1) 12 = 23+v N1 | 6) 64 = n-47 —
AR
2)-45 = 1 7) c+25 =-55
3) -559 =-43x 8) -4 =-44+r
4) 144 = 245 9) 9 = -42

5) -59k = 354 10) 58z = 464



